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QUESTION 1
What information is included in the DHCP snooping database? (Choose two.)

Client MAC address
DHCP server address
DHCP options

VLAN

Cow>

Answer: AD

Explanation:

When DHCP snooping is enabled, the lease information from the server is used to create the DHCP
shooping table, also known as the binding table. The table shows current IP-MAC bindings, as well
as lease time, type of binding, names of associated VLANSs, and associated interface.
http://www.juniper.net/techpubs/en_US/junos13.2/topics/concept/port-security-dhcp-snooping-
els.html

QUESTION 2
Which three statements are correct about the voice VLAN feature? (Choose three.)

A. It allows the access port to accept tagged voice and untagged data packets.

B. It allows you to apply independent CoS actions to data and voice packets.

C. It can be used with LLDP-MED to dynamically assign the VLAN ID value to IP phones.
D. Itallows trunk ports to accept tagged voice and untagged data packets.

E. It must use the same VLAN ID as data traffic on a defined interface.

Answer: ABC

Explanation:

A (not D): The Voice VLAN feature in EX-series switches enables access ports to accept both data
(untagged) and voice (tagged) traffic and separate that traffic into different VLANS.

B: To assign differentiated priority to Voice traffic, it is recommended that class of service (CoS) is
configured prior to enabling the voice VLAN feature. Typically, voice traffic is treated with a higher
priority than common user traffic. Without differentiated treatment through CoS, all traffic,
regardless of the type, is subject to the same delay during times of congestion.

C: In conjunction with Voice VLAN, you can utilize Link Layer Discovery Protocol Media Endpoint
Discovery (LLDP-MED) to provide the voice VLAN ID and 802.1p values to the attached IP phones.
This dynamic method associates each IP phone with the appropriate voice VLAN and assigns the
necessary 802.1p values, which are used by CoS, to differentiate service for voice traffic within a
network.

https://kb.juniper.net/InfoCenter/index?page=content&id=KB11062

QUESTION 3
Which two statements are correct about aggregate routes in the Junos OS? (Choose two.)

An active route can contribute only to a single aggregate route.

Only one aggregate route can be configured for each destination prefix.
An aggregate route has a default next hop of an IP address.

An aggregate route always shows as active in the routing table.

Cow»

Answer: AB

Explanation:

A route can contribute only to a single aggregate route. You can configure only one aggregate route
for each destination prefix.
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QUESTION 4
Which device is used to separate collision domains?

A. switch
B. router
C. hub

D. firewall

Answer: A

Explanation:

Modern wired networks use a network switch to reduce or eliminate collisions. By connecting each
device directly to a port on the switch, either each port on a switch becomes its own collision domain
(in the case of half duplex links) or the possibility of collisions is eliminated entirely in the case of
full duplex links.

https://en.wikipedia.org/wiki/Collision_domain

QUESTION 5
What are two types of 1S-IS PDUs? (Choose two.)

open PDU
VRF PDU
hello PDU
link-state PDU

Cow»

Answer: CD

Explanation:

IS-IS hello (IIH) PDUs broadcast to discover the identity of neighboring 1S-IS systems and to
determine whether the neighbors are Level 1 or Level 2 intermediate systems. Link-state PDUs
contain information about the state of adjacencies to neighboring IS-IS systems.
http://www.juniper.net/documentation/en_US/junos15.1/topics/concept/is-is-routing-overview.html

QUESTION 6
What are three extended BGP communities? (Choose three.)

Origin: 172.16.100.100:100
domain-id: 192.168.1.1:555
extend: 454:350
172.16.90.100:888

target: 65000:65000

moowp

Answer: ABE
Explanation:
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type is the type of extended community and can be either the 16-bit numerical identifier of a specific BGP extended community or one of these types:

* pandwidth—Sets up the bandwidth extended community. Specifying link bandwidth allows you to distribute traffic unequally among different BGP

paths.
o MNote: The link bandwidth attribute does not work concurrently with per-prefix load balancing.

* domain-id—ldentifies the OSPF domain from which the route originated.
* origin—Ildentifies where the route originated.

* rt-import—Ildentifies the route to install in the routing table.

o Note: You must identify the route by an IP address, not an AS number.

*» =rc-as—ldentifies the AS from which the route originated. You must specify an AS number, not an IP address.

https://www.juniper.net/techpubs/en_US/junos12.3/topics/usage-guidelines/policy-defining-bgp-
communities-and-extended-communities-for-use-in-routing-policy-match-conditions.html

QUESTION 7
Which two statements are true about DIS elections in 1S-1S? (Choose two.)

If a priority tie occurs, the router with the lower subnetwork point of attachment (SNPA) value becomes the DIS.
If a priority tie occurs, the router with the higher subnetwork point of attachment (SNPA) value becomes the DIS.
The router with the lower priority value becomes the DIS.

The router with the higher priority value becomes the DIS.

Cow»

Answer: BD

Explanation:

In I1S-1S, deterministic DIS election makes the possibility of predicting the router that will be elected
as DIS from the same set of routers. The router advertising the numerically highest priority wins,
with numerically highest MAC address, also called a Subnetwork Point of Attachment (SNPA),
breaking the tie.
https://kb.juniper.net/kb/documents/public/junos/StudyGuides/Ch4_from_JNCIP_studyguide.pdf

QUESTION 8

Host-1 was recently added in the network and is attached to ge-0/0/10 on Switch-A. Host-1 is
powered on and has its interface configured with default Layer 2 settings and an IP address on the
172.17.12.0/24 1P subnet. Host-1's MAC address is not shown in Switch-A's bridging table. What
are three explanations for this state? (Choose three.)

A. The ge-0/0/10 interface is configured as an access port.

B. The ge-0/0/10 interface is not operationally or administratively up.
C. The ge-0/0/10 interface does not have an associated IRB.

D. The ge-0/0/10 interface has not received any traffic from Host-1.
E. The ge-0/0/10 interface is configured as a trunk port.

Answer: BCD

Explanation:

B: MAC learning messages received with errors include:

Interface down -- The MAC address is learned on an interface that is down.

C: To configure the MAC address of an IRB interface etc.
http://www.juniper.net/techpubs/en_US/junos15.1/topics/reference/command-summary/show-
ethernet-switching-statistics-mac-learning-ex-series.html

JNO-347 Exam Dumps JNO-347 Exam Questions JN0-347 PDF Dumps JNO0-347 VCE Dumps
Back to the Source of this PDF and Get More Free Braindumps -- www.juniperbraindumps.com



https://www.passleader.com/jn0-347.html
https://www.passleader.com/jn0-347.html
https://www.passleader.com/jn0-347.html
https://www.passleader.com/jn0-347.html
https://www.passleader.com/jn0-347.html
http://www.juniperbraindumps.com/
https://www.passleader.com/jn0-347.html

@PassLeader

Leader of IT Certifications

New VCE and PDF Exam Dumps from PassLeader

https://www.juniper.net/documentation/en_US/junos16.1/topics/example/example-configuring-
mac-address-of-an-irb-interface.html

QUESTION 9

Router-1 and Router-2 need to connect through the Internet using a tunneling technology. Hosts
that are connected to Router-1 and Router-2 will be sending traffic up to 1500 bytes. The maximum
segment size is supported across the path is 1520 bytes. Which tunneling technology will allow this
communication to take place?

A. GRE tunnel

B. IPsec VPN transport mode
C. IPsec VPN tunnel mode
D. IP-IP tunnel

Answer: D

Explanation:

Difference Between GRE and IP-IP Tunnel. Generic Routing Encapsulation (GRE) and IP-in-IP
(IPIP) are two rather similar tunneling mechanisms which are often confused. In terms of less
overhead, the GRE header is 24 bytes and an IP header is 20 bytes.

QUESTION 10
What are two interarea OSPF LSA types? (Choose two.)

Type-4 ASBR summary LSAs
Type 3 summary LSAs

Type 1 router LSAs

Type 2 network LSAs

Cow»

Answer: AB
Explanation:
A: The fourth LSA type, network example:

" OSPFAreas1 .

+= T

_~ OSPFArea2 . _~OSPFAreal .

> . >

Type 1 —Router LSA  Type 4 — Summary ASBR LSA Type 4 — Summary ASBR LSA

e T T

In this example we have R1 that is redistributing information from the RIP router into OSPF. This
makes R1 an ASBR (Autonomous System Border Router). What happens is that R1 will flip a bit
in the router LSA to identify itself as an ASBR. When R2 who is an ABR receives this router LSA it
will create a type 4 summary ASBR LSA and flood it into area 0. This LSA will also be flooded in
all other areas and is required so all OSPF routers know where to find the ASBR.

B: Example:
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Type 1 - Router LSA Type 3 —Summary LSA Type 3 —Summary LSA

Te Te Te

Router 2 can create a Type 3 summary LSA and flood it into area 0. This LSA will flood into all the
other areas of our OSPF network. This way all the routers in other areas will know about the prefixes
from other areas. Note: The name "summary" LSA is very misleading. By default OSPF is not going
to summarize anything for you. There is however a command that let you summarize inter-area
routes. Take a look at my OSPF summarization tutorial if you are interested. If you are looking at
the routing table of an OSPF router and see some O |IA entries you are looking at LSA type 3
summary LSAs. Those are your inter-area prefixes.

QUESTION 11
Given the configuration shown in the exhibit, what will be the threshold for storm control?

{master:0} [edit]
user@switch# show forwarding-options
storm-control-profiles default {
all {
bandwidth-level 100:

100 Kbps (kilobits per second)
100 Mbps (megabits per second)
100% (percent of link bandwidth)
100 pps (packets per second)

Ccow»

Answer: A

Explanation:

This example shows how to configure the storm control level on interface ge-0/0/0 by setting the
level to a traffic rate of 15,000 Kbps, based on the traffic rate of the combined applicable traffic
streams.
https://www.juniper.net/techpubs/en_US/junos12.3/topics/example/rate-limiting-storm-control-
configuring.html#X7AlwRyc817gtLBC.99

QUESTION 12
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You are notified that clients connected to your EX Series switch are not receiving IP addresses
from the DHCP server. You examine the switch configuration and notice that DHCP snooping has
been enabled. In this scenario, what would cause the problem?

DHCP Server
ge-0/0/0
access
vian 1

BRESBESE AREAES SR EARE AEANIY

TTmm. mme
Host-1 Host-2
ge-0/0/1 ge-0/0/2
access dCccess
vian 1 vian 1
A. The location information is not being inserted into the DHCP option 82 requests.
B. The dynamic ARP inspection feature needs to be enabled on the ge-0/0/0 interface.
C. The DHCP relay setting in the forwarding-options hierarchy has not been configured.
D. The DHCP server's ge-0/0/0 interface has not been configured as a trusted interface.
Answer: B
Explanation:

You can configure DHCP snooping, dynamic ARP inspection (DAI), MAC limiting, persistent MAC
learning, and MAC move limiting on the access ports of EX Series switches to protect the switches
and the Ethernet LAN against address spoofing and Layer 2 denial-of-service (DoS) attacks. You
can also configure a trusted DHCP server and specific (allowed) MAC addresses for the switch
interfaces.
http://www.juniper.net/techpubs/en_US/junos11.4/topics/example/port-security-configuring.html

QUESTION 13
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Which two statements are true about STP port states? (Choose two.)

A. Inthe listening state, the port forwards all data packets.

B. A port that has been administratively disabled under the STP protocol drops all BPDUs.
C. Inthe learning state, the port drops all data packets.

D. A port that has been administratively disabled under the STP protocol floods all BPDUs.

Answer: BC

Explanation:

B: A port in the disabled state is manually isolated from the network. A port in the disabled state
does not participate in frame forwarding or the operation of STP because a port in the disabled
state is considered non-operational.

C: The learning state is a 15-second interval during which the bridge does not pass user data
frames while the bridge is building its bridging table. As the bridge receives frames, it places the
source MAC address and port of each frame into the bridging table. The learning state reduces the
amount of flooding required when data forwarding begins.

QUESTION 14

A number of reports from end-users indicate that internal and external communications are
intermittent and not reliable. You verified the status of the switch ports and have determined that
they are up and operational. You also noticed a very high level of link bandwidth utilization on those
same ports. The current topology of the affected environment is shown in the exhibit. What would

be the cause of the reported issues?
M\ Exhibit &

Switch-1

50— B3—ad

Host A Switch-2 Switch-3 Host B

A lack of port-based ACLs filtering the traffic flows.

A lack of a loop-prevention mechanism or protocol.

A malformed route-based ACL improperly filtering traffic flows.
A misconfigured interior gateway protocol (IGP).

©Cow»

Answer: B

Explanation:

Enabling Spanning-Tree Protocol will mitigate loops, so if possible, enable Spanning-Tree Protocol
on the devices in the network segment where the loop is observed.

QUESTION 15
The exhibit shows that Host-1 and Host-2 are attached to the switch and associated with IRB irb.1.
However, traffic sent from Host-1 to Host-2 is not blocked as expected. Why is this problem
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occurrini?

[edit
userfsw chs 3 1rewall
family inet
filter block-heost
Taerm Block~Host~2
from

------

chen
discarda

L
)
taermx < E

chen accept; I I I I
} —— ——

} Host-1 Host-2
10.10.10.102 10.10.10.102

Inter-VLAN traffic cannot be blocked by a router-based filter.

The block-host filter is applied in the wrong direction on theirb.linterface.
The Block-Host-2 term does not contain the MAC address of Host-2.
Intra-VLAN traffic cannot be blocked by a router-based filter.

Cow»

Answer: B

Explanation:

The block-host filter blocks traffic with source address of 10.10.12.102, which is traffic sent from
Host-2. It should block traffic from Host-1, with the source address of 10.10.12.101.

QUESTION 16

You are adding a new EX4300 member switch to your existing EX4300 Virtual Chassis. However,
the new member is not running the same Junos version as the other members. By default, what is
the expected behavior?

A. The new switch will be assigned a member ID and then placed in an inactive state.

B. The Virtual Chassis will transition into a split brain situation between the existing master Routing Engine and the
switch running the different version.

C. The new switch will automatically pull the correct version from the master Routing Engine and perform the
necessary upgrade.

D. The new switch is not recognized by the Virtual Chassis.

Answer: C

Explanation:

You can use the automatic software update feature to automatically update the Juniper Networks
Junos operating system (Junos OS) version on prospective member switches as you add them to
an EX Series or QFX Series Virtual Chassis. When you have configured automatic software update
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on a Virtual Chassis, the Junos OS version is updated on the new member switch when you add it
to the Virtual Chassis. The new member switch immediately joins the Virtual Chassis configuration
and is put in the active state.
http://www.juniper.net/documentation/en_US/junos16.1/topics/concept/virtual-chassis-ex4200-
software-automatic-update.html

QUESTION 17
Which two statements are correct regarding the root bridge election process when using STP?
(Choose two.)

A higher system MAC address is preferred.
A higher bridge priority is preferred.
A lower system MAC address is preferred.
A lower bridge priority is preferred.

Cow»

Answer: CD

Explanation:

The root bridge for each spanning-tree protocol (STP) instance is determined by the bridge ID. The
bridge ID consists of a configurable bridge priority and the MAC address of the bridge. The bridge
with the lowest bridge ID is elected as the root bridge. If the bridge priorities are equal or if the
bridge priority is not configured, the bridge with the lowest MAC address is elected the root bridge.
https://www.juniper.net/documentation/en_US/junos15.1/topics/concept/layer-2-services-stp-
guidelines-statement-bridge-priority.html

QUESTION 18
What would be used to combine multiple switches into a single management platform?

Redundant trunk groups

Virtual Chassis

Ggraceful Routing Engine switchover
Virtual Router Redundancy Protocol

Cow»

Answer: B

Explanation:

Many Juniper Networks EX Series switches support the Virtual Chassis flexible, scaling switch
solution. You can connect individual switches together to form one unit and manage the unit as a
single chassis.
http://www.juniper.net/documentation/en_US/junos14.1/topics/concept/virtual-chassis-ex4200-
overview.html|

QUESTION 19
Which protocol supports tunneling of non-IP traffic?

GRE
SSH
IPsec
IP-IP

Ccow»

Answer: A

Explanation:

The GRE protocol (Generic Routing Encapsulation) which is a tunneling protocol that can
encapsulate a variety of network layer packet types into a GRE tunnel. GRE therefore can
encapsulate multicast traffic, routing protocols (OSPF, EIGRP etc) packets, and other non-IP traffic
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inside a point-to-point tunnel.
http://www.networkstraining.com/passing-non-ip-traffic-over-ipsec-vpn-using-gre-over-ipsec/

QUESTION 20
Which three link-specific fields must match between OSPF neighbors before they form an
adjacency over a broadcast medium? (Choose three.)

A. dead interval
B. options

C. hello interval
D. neighbor

E. router priority
Answer: ACD
Explanation:

AC: If OSPF HELLO or Dead timer interval values are mismatched, then adjacency cannot be
achieved.

D: In a successful formation of OSPF adjacency, OSPF neighbors will attain the FULL neighbor
state.

http://www.cisco.com/c/en/us/support/docs/ip/open-shortest-path-first-ospf/13699-29.html

QUESTION 21
Which mechanism is used to share routes between routing tables?

filter-based forwarding
forwarding instances
RIB groups

routing instances

Cow»

Answer: C

Explanation:

A RIB group is a way to have a routing protocol, in most cases, place information in multiple route
tables.

QUESTION 22
Referring to the exhibit, Router-1 and Router-2 are failing to form an IS-IS adjacency. What should
you do to solve the problem?
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[edit])
user@Router-1# show interfaces
ge-0/0/0 {
unit 0 {
family inet {
address 10.10.10.33/24;
}
}

}
ge-0/0/2 {
unit 0 {
family inet {
address 10.1.0.254/24;
}
family iso {
address 49.0003.0192.0168.0113.00;
}
}
}
100 {
unit 0 {
family inet {
address 192.168.1.11/32;
}
family iso {
address 49.0002.0152.0168.0111.00;
}
}
}

[edit)
user@Router-1# show protocols
isis {
overload;
level 2 disable;
interface all;
}

[edit)
user@Router-2# show interfaces
ge-0/0/0 {
unit 0 {
family inet {
address 10.10.10.34/24;
}
}
}
ge-0/0/2 {
unit 0 {
family inet {
address 10.1.0.1/16;
}
family iso;
}
}
100 {
unit 0 {
family inet {
address 192.168.1.12/32;
}
family iso {
address 49.0001.0192.0168.0112.00;
}
}
}

[edit)
user@Router-2# show protocols
isis {
interface all;
}

A. Change the IP subnet masks to match on the ge-0/0/2 interfaces of both routers.
B. Change the ISO areas on the 100 interfaces to match on both routers.
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C. Remove the ISO address from ge-0/0/2 on Router-1.
D. Remove the overloaded statement from Router-1.

Answer: C

Explanation:

There are two interfaces with 1ISO addresses on Router-1, and they have different area IDs, 002
and 003. Only one interface on Router-1 need to have an ISO address.

QUESTION 23
Referring to the exhibit, what does the asterisk (*) indicate?

M\ Exhibit

w=er@routex show ospf datakbase
CSPF database, Area 0D.0.0.C
Type D Adv Rtx Seg
Age Ccpt CRsum Len
Routerxr w72 - 16..248.149 172 242 .14
G P S R = Lo e <
CYHOULOOUOODU c 4 U I L U < >
Router 172.316.248 2313 172 24 213
Dx8000000D2 331 Dx22 Oxd3 36
Network *172.16.248.214 X722 248.14
D2 1 10 22 & I2
JH S0 NS LU - = o 2 S L

The router received this entry.
This entry is stale.

This entry is new.

The router originated this entry.

Cow»

Answer: C

Explanation:

The asterisk (*) next to one of the block entries corresponds to the active route that is used for new
traffic. The term 'new traffic' corresponds to a single packet or an entire flow to a destination,
depending on the type of switching configured.
http://www.cisco.com/c/en/us/support/docs/ip/border-gateway-protocol-bgp/5212-46.html

QUESTION 24

What are three RSTP port states? (Choose three.)
A. Learning

B. Forwarding

C. Listening

D. Blocking

E. Discarding

Answer: ABE

Explanation:

Port States in STP and RSTP.
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STP (IEEE 802.1D) RSTP (IEEE 802.1w)

Disabled Discarding

Blocking Discarding

Listening Discarding

Learning Learning

Forwarding Forwarding

ttps://lwww.juniper.net/documentation/en_US/junos12.3/topics/concept/mx-series-rstp-port-states-
roles.html

QUESTION 25
Referring to the exhibit, which router will be selected as the DR?
M\ Exhibit
R1 R2
FPrority 128 Friority 54

Adjacencies %" $
\ ~— /

Priority 160 i Priority © Priority 32

\ <
\\k‘l"l

R1
R5
R4
R3

Ccow»

Answer: D

Explanation:

The higher the priority value, the greater likelihood the routing device will become the designated
router. By default, routing devices have a priority of 128. A priority of 0 marks the routing device as
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ineligible to become the designated router. A priority of 1 means the routing device has the least
chance of becoming a designated router. A priority of 255 means the routing device is always the
designated router.
https://www.juniper.net/documentation/en_US/junos16.1/topics/concept/ospf-routing-designated-
router-overview.htmi

QUESTION 26
Referring to the exhibit, what does the asterisk (*) following the ge-0/0/5.0 interface indicate?
M\ Exhibit
i Aing Anstancs LAN 1 Tag
1 texriaces

e

A. ltindicates the interface is a trunk port.

B. Itindicates the interface is not active.

C. ltindicates the interface is an access port.
D. Itindicates the interface is active.
Answer: D

Explanation:

An asterisk (*) beside the interface indicates that the interface is UP.
http://www.juniper.net/documentation/en_US/junos14.1/topics/reference/command-
summary/show-vlans-bridging-gfx-series.html

QUESTION 27
Referring to the exhibit, what is the problem?
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M\ Exhibit &=
sSerxr oW T incerxrrTa e
axx X > § 1 c
e T nfiguratior
azl 1
A . |
+ L
L= L] e Bo
ervliser—op 1O S
=) >ada aes
1
ac
alE
family ethernec—swit ng
vian
memoers defaultc
}
}
3
}
H
vians {
defaulc |
vlian—-id 1;
}
}
;.

LAG requires more than two member links.

LACP is required for LAG to work.

Aggregated interfaces must be defined under the chassis stanza.

The LAG member interfaces are configured across different line cards.

Cow»

Answer: C

Explanation:

Use the link aggregation feature to aggregate one or more links to form a virtual link or link
aggregation group (LAG).

QUESTION 28
Which two statements about RSTP are correct? (Choose two.)

A. RSTP is not backwards compatible with STP.
B. RSTP is backwards compatible with STP.
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C. RSTP permits multiple root bridges within a Layer 2 domain.
D. RSTP permits only a single root bridge within a Layer 2 domain.

Answer: BC

Explanation:

B: RSTP and STP can co-exist. RSTP achieves its rapid converges over STP through new
mechanisms. If a RSTP switch connects to an STP switch, the RSTP switch will drop down to STP
convergence speeds on a per-port basis.

C: Unlike 802.1d (STP), 802.1w (RSTP) uses Hello packets between bridges to maintain link states
and does not rely on the root bridge.
https://www.juniper.net/documentation/en_US/junos12.3/topics/concept/mx-series-rstp-port-
states-roles.html

http://www.ciscopress.com/articles/article.asp?p=474236&seqNum=3

QUESTION 29
A routing table contains multiple BGP routes to the same destination prefix. The route preference

is the same for each route. Referring to the exhibit, which route would be selected?
M\ Exhibit &

Route | MED Origin Code Local Preference

A | 10 1 50
G | 0 ? | 150
c | 20 E 100
D | 10 1 50

A. Route A

B. Route D

C. Route B

D. Route C

Answer: C

Explanation:

Route B with the highest local preference is preferred.
https://www.juniper.net/documentation/en_US/junos12.3/topics/reference/general/routing-
ptotocols-address-representation.html

QUESTION 30
Which two port security features are dependent on the DHCP snooping database? (Choose two.)

MAC limiting

Dynamic ARP inspection
IP source guard

Storm control

Cow»

Answer: BC

Explanation:

B: Dynamic ARP inspection (DAI) prevents Address Resolution Protocol (ARP) spoofing attacks.
ARP requests and replies are compared against entries in the DHCP snooping database, and
filtering decisions are made on the basis of the results of those comparisons.

C: IP source guard mitigates the effects of IP address spoofing attacks on the Ethernet LAN. With
IP source guard enabled, the source IP address in the packet sent from an untrusted access
interface is validated against the source MAC address in the DHCP snooping database. The packet
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is forwarded if the source IP-MAC binding is valid; if the binding is not valid, the packet is discarded.
You enable IP source guard on a VLAN. EX Series switches support IPv6 source guard also.
http://www.juniper.net/techpubs/en_US/junos13.2/topics/concept/port-security-overview.html

QUESTION 31
What is reviewed first in the BGP route selection process?

the peer with the lowest IP address
the route with an origin of incomplete
the path with no MED value

the next-hop resolution

Cow»

Answer: D

Explanation:
https://www.juniper.net/documentation/en_US/junos12.3/topics/reference/general/routing-
ptotocols-address-representation.html

QUESTION 32
Referring to the exhibit, which type of route is displayed?

M\ Exhibit

|
XA
1
|
¥
I’[y
II‘:
K
0
W
1]
ot
0
|
W
L)
g
15
]
n
i)

static
generate
aggregate
martian

Cow»

Answer: C
Explanation:
From the exhibit we see: 109.0.0.0/8 *[Aggegate/130]

QUESTION 33
Referring to the exhibit, which type of route is displayed?
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M\ Exhibit

userfrouter> show route 0/0 extensive

inet.0: 20874 destinations, 41585 routes (20873
active, 0 holddown, 1 hidden)
0.0,0.0/0 (2 entries, 1 announced)
TSI:
KRT in-kernel 0.0.0.0/0 -> {indirect(262142)
OSPF area 0.0.0.0, LSA ID :
*Aggregate Preference: 130
Next hop type: Indirect
Address: 0x157d018
Next-hop reference count: 36000
Next hop type: Router, Next hop index: 262143
Next hop: 172.16.0.1 via ge-0/0/3.0, selected
Next hop: 172.16.4.5 via ge-0/0/4.0
Protocol next hop: 172,16.1.1
Indirect next hop: 139¢570 262142
State: <Active Int Ext>
Local AS: 14203
Age:; 15:18 Metric2:
Task: Aggregate
Announcement bits (3):
7-Resolve tree 2
AS path: I
Flags: Generate
Resolve Depth: 1 Active
Contributing Routes (7597):
144.91.0.0/16 proto BGP
144.243.212.0/24 proto

)
0.0.0.0, LSA type :

0

0=KRT 2~
OSPF

Extern

BGP
144.243.214.0/24 proto
BGP
146.149.32.0/19 proto
BGP
146.222.124.0/24 proto
BGP
146.222.128.0/24 proto
BGP
146.222.134.0/24 proto
BGP
146.222.136.0/24 proto
BGP
146.222.139.0/24 prote
BGP
A. generate
B. martian
C. aggregate
D. static
Answer: C
Explanation:

From the exhibit se see: Contributing Routes.

Note: Route aggregation allows you to combine groups of routes with common addresses into a
single entry in the routing table. This decreases the size of the routing table as well as the number
of route advertisements sent by the routing device. An aggregate route becomes active when it has
one or more contributing routes. A contributing route is an active route that is a more specific match

for the aggregate destination.

http://www.juniper.net/techpubs/en_US/junos15.1x49-d40/topics/concept/policy-aggregate-

routes.html
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QUESTION 34
Based on the traceoptions output shown in the exhibit, what is the problem with the adjacency?

M\ Exhibit
yat spf cleanup
wyp elapsed fime
al elapsed Time
i full OJPFr refresh

iolote: ielote
AMme x b < K cansk CaPr
iispatch
cask O3PF
eventa: reaecy
nex
events: reav
ntrol

iset: Ttimer

/1.0 IPFL 72

leangth 44,
*heckaum OxBa7a,

mask 2595%.255.255.0,

prio 128

fead_ivl 40, DR

BDR 0.0.0.0

Nowv 3 15140 '2.900374 task_timer uset: timer
OSPF intornal timer <Touched> ser to offset 35 at
-5:45:07
Nov 3 15:40:04.225141 task process eventa: recy
roady for O3PYF X/0./varxr/run/ppmd control
Nowv 3 15:40:04.225293 task_process _eventost: reov
ready for OAPF I/O./var/run/ppmd control
Nov } 15:140104.2253%0 task_timer uset: timer
OC3PF I/0./var/xun/ppmd control PPM Mold
<Touched> set to offast 2:00 at 15:142:104
Nov 3 15:40:04.225352 O8PF periocdic xmit from
192.168.150.253 vo 224.0.0.% (1rL 72 area
1.0.0.0)
Nov 3 15:140:06.025582 task_procesa eventa: recy
ready for OSP¥ 1/0./var/run/ppmd control
Nov 3 15:40:06.025%5685 ta.l_p:ooo-. .'.n‘.l
ready !or OaPF 1/0./vax/xun/ppmd_control

<Touoh-d> set to of!-ot 2:00 .Q
Noy 3 1%:40:06,.02571% ocapr xhe
172.16.128.253 vo 224.0.0.5 ¢

A. connectivity

B. authentication mismatch
C. area mismatch

D. MTU mismatch
Answer: C

Explanation:
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From the exhibit we see: OSPF packet ignored: area mismatch.

QUESTION 35
Based on the output shown in the exhibit, which statement is correct?

M\ Exhibit

{master:0}
user@switch> show spanning-tree interface

Spanning tree interface parameters for instance 0

Interface Port ID Designated Designated
Port State Role
port ID bridge ID
Cost

ge-0/0/8.0 128:521 128:521

8192 .50c58daedbdl 200 FWD DESG
ge-0/0/9.0 64:522 64:522

8192 .50c58daedb4dl 2000 FWD DESG
ge-0/0/14.0 240:527 240:527

8192 .50c58daedb4l 20000 FWD DESG
ge-0/0/15.0 128:528 128:528

8192 .50c58daedb4dl 200000 FWD DESG

The ge-0/0/9 interface is using the default priority value.
The ge-0/0/15 interface is using the default port cost.
This switch has a bridge priority of 32k.

This switch has been elected as the root bridge.

oCow»

Answer: B
Explanation:
The default port cost for a 100 Mbit/s interface is 200,000, which is the port cost of the ge-0/0/15
interface.
Note: Data rate and default STP path cost.
RSTP cost (802.1W-

Data rate 1SJ9P8)COSt (802.1D- 21(24 default value)
100 Mbit/s 19

1 Gbit/s 4 20.000

2 Gbit/s 3 10,000

10 Gbit/s 2 2,000

QUESTION 36
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In the exhibit, each IP subnet in the network is associated with a unique VLAN ID. Which action will
ensure that Host C will communicate with Host A and Host B?

M\ Exhibit 3

Usear A liser C
172 1721 50/24 - 172 1723 52/24
< Switch-A )
- | l ‘ ge-0/0/12 E ge-0/0/14 ‘(_J I I
:,_. verrg E..]
. I ge-0/0/16 '

- l i User B
\ . e 1721722 .51/24
e S0)

Configure all switch ports connecting to the host devices as access ports associated with a common VLAN.
Configure an IRB interface for each VLAN and associate it with its corresponding VLAN.

Configure all switch ports connecting to the host devices as trunk ports associated with all VLANS.
Configure a port-based ACL that permits inter-VLAN routing for all configured VLANS.

Cow»

Answer: B

Explanation:

To segment traffic on a LAN into separate broadcast domains, you create separate virtual LANs
(VLANS). Of course, you also want to allow these employees to communicate with people and
resources in other VLANs. To forward packets between VLANs you normally need a router that
connects the VLANs. However, you can accomplish this on a Juniper Networks switch without using
a router by configuring an integrated routing and bridging (IRB) interface (also known as a routed
VLAN interface -- or RVI -- in versions of Junos OS that do not support Enhanced Layer 2 Software).
http://www.juniper.net/documentation/en_US/junos15.1/topics/example/RVIs-qfx-series-
examplel.html

QUESTION 37
Depending on the link type, OSPF sends link state update packets to which two addresses?
(Choose two.)

A. 224.0.0.8
B. 224.0.0.6
C. 224.0.09
D. 224.0.0.5

Answer: BD

Explanation:

Every time a router sends an update, it sends it to the DR and BDR on the multicast address
224.0.0.6. The DR will then send the update out to all other routers in the area, to the multicast
address 224.0.0.5.

https://en.wikipedia.org/wiki/Open_Shortest_Path_First

QUESTION 38
Which statement about IS-IS adjacencies is true?

A. Adjacency formation between Level 2 routers must have different area IDs.
B. Adjacency formation between Level 2 routers must have the same area ID.
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C. Adjacency formation between Level 1 routers must have the same area ID.
D. Adjacency formation between Level 1 routers must have different area IDs.

Answer: C

Explanation:
IS-1S hello PDUs establish adjacencies with other routers and have three different formats: one for

point-to-point hello packets, one for Level 1 broadcast links, and one for Level 2 broadcast links.
Level 1 routers must share the same area address to form an adjacency, while Level 2 routers do

not have this limitation.
http://www.juniper.net/documentation/en_US/junos15.1/topics/concept/is-is-routing-overview.html

QUESTION 39
Referring to the exhibit, you are asked to ensure that host-1 can communicate with host-3 while

also allowini host-2 to communicate with host-4. What should iou do to enable this behavior?

host-1: 172 23 0.10/24 nost-2: 172 23 0.20/24
VLAMN cefaut . untagged: VLM cefaut wuntagged)
o I

o

$ 11 g r—
host-2: 172 23 10.10/24 host-2: 172 23 10.20/24
WLAN: v10 /VLAN ID 10 VLAN: w10/ VLAN ID 1D

Configure the native-vlan-id default statement under the ge-0/0/1 port settings on Switch-1.

Use the all keyword when defining the member VLANSs for the ge-0/0/1 interface on Switch-1.

Configure the native-vlan-id default statement under the ge-0/0/1 port settings on both Switch-1 and Switch-2.
Use the all keyword when defining the member VLANs for the ge-0/0/1 interface on both Switch-1 and Switch-2.

Cow»

Answer: C
Explanation:
https://www.juniper.net/documentation/en_US/junos13.3/topics/usage-guidelines/interfaces-

enabling-vlan-tagging.html

QUESTION 40
Referring to the exhibit, which configuration change is needed for an I1S-IS Level 1 adjacency

between R1 and R2?
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M\ Exhibit 3
}
i C Isa < l
n ; DR R :
user@R2S P sk N rot las isis
interfa 1 1
interface 1 ) ;
A. Configure the 100 family ISO address 49.0002.0010.0042.0002.00 on R1.
B. Disable Level 2 on R2's ge-0/0/1 interface.
C. Configure the 100 family ISO address 49.0002.0010.0042.0002.00 on R2.
D. Enable Level 2 on R1's ge-0/0/1 interface.
Answer: C
Explanation:

Level 1 adjacencies can be formed between routers that share a common area number. We need
to change ISO addresses so that both routers have the same area number. If we change the 1ISO

address on R2 49.0002.0010.0042.0002.00, both routers will have 0002 as area nhumber.
Note:

Level 2 adjacency can be formed between routers that might or might not share an area number.

http://www.juniper.net/techpubs/en_US/junos16.1/topics/example/isis-multi-level.html

QUESTION 41

Which two statements are correct about redundant trunk groups on EX Series switches? (Choose

two.)

A. Layer 2 control traffic is permitted on the secondary link.
B. If the active link fails, then the secondary link automatically takes over.
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C. Redundant trunk groups load balance traffic across two designated uplink interfaces.
D. Redundant trunk groups use spanning tree to provide loop-free redundant uplinks.

Answer: A

Explanation:

A: While data traffic is blocked on the secondary link, Layer 2 control traffic is still permitted. For
example, an LLDP session can be run between two switches on the secondary link.

B: The redundant trunk group is configured on the access switch and contains two links: a primary
or active link, and a secondary link. If the active link fails, the secondary link automatically starts
forwarding data traffic without waiting for normal spanning-tree protocol convergence.
http://www.juniper.net/documentation/en_US/junos13.2/topics/concept/cfm-redundant-trunk-
groups-understanding.html

QUESTION 42

Referring to the exhibit, which statement is correct?
M\ Exhibit

e etabole b

This device is the root bridge.
The spanning tree session has timed out.
The bridge priority on the root device is set to 8k.

Ow>
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D. The local bridge priority is set to 8k.

Answer: C

Explanation:

The Root ID field is the Bridge ID of the elected spanning tree root bridge. The bridge ID consists
of a configurable bridge priority and the MAC address of the bridge. Here the bridige priority is 8192,
which is 8k.

QUESTION 43
Referring to the exhibit, which router will become the BDR if all routers are powered on at the same

time?

R1 R3
Priority: O Priority: 128
RID: 10.10.10.1 RID: 10.10.10.3

b D

P S

R2 R4
Priority: 100 Priority: 128
RID: 10.10.10.2 RID: 10.10.10.4

A. R3

B. R2

C. R1

D. R4

Answer: A

Explanation:

In LANSs, the election of the designated router takes place when the OSPF network is initially
established. When the first OSPF links are active, the routing device with the highest router
identifier (defined by the router-id configuration value, which is typically the IP address of the routing
device, or the loopback address) is elected the designated router. The routing device with the
second highest router identifier is elected the backup designated router.
https://www.juniper.net/documentation/en_US/junos/topics/concept/ospf-routing-designated-
router-overview.html

QUESTION 44
Switch-1 in the exhibit receives a packet from User A with a destination MAC address of
00:26:88:02:74:48. Which statement is correct?
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Switch-1's Bridge Table
MAC Address = Interface
00:26 88 02:74 45 g2-0/0/5
( 38 02:74 47 ce-007
L :
Switch-1
User A - ,{_1 gy o e L [ ] User C
MAC 00 25 38:02 74:45 P s | - [‘],:le | MAC 00 26:88 02:74.48

A‘J{ ] IAAC «JIJL)'.E’H.;:-)? 74:47
A. Switch-1 floods the packet out ge-0/0/6, ge-0/0/7, and ge-0/0/8.
B. Switch-1 sends the packet out ge-0/0/7 only.
C. Switch-1 sends the packet out ge-0/0/8 only.
D. Switch-1 floods the packet out ge-0/0/7 and ge-0/0/8.
Answer: D
Explanation:

» A switch populates its mac-address table with mac addresses registered on incoming frames. As a result,
when the switch needs to forward a frame destined to that specific mac-address, it will know out of which
port to send the frame.

+ Flooding however occurs when the switch does not know of the destination mac-address - say the switch
has not learnt that mac address yet; or maybe that specific entry expired so it got flushed away from the
mac-address table. To ensure the frame reaches its intended destination, the switch will replicate that
frame out of all ports, less the port where the frame was received - that's flooding.

+ By default, 2ach mac-address table entry has a timeout timer of 5 minutes; this timer gets reset as
relevant frames keep coming into the relevant port

http://webcache.googleusercontent.com/search?q=cache:P-
vniY7DHgAJ:blogbt.net/index.php/2015/03/mac-address-table-arp-table-and-unicast-flooding-
part-i/+&cd=4&hl=en&ct=clnk&gl=us

QUESTION 45
Which two statements are true about OSPF Not-So-Stubby Areas? (Choose two.)

The ASBR originates Type 7 LSA a for redistributed external routes.
Type 5 LSAs are translated by the ASBR into Type 7 LSAs.

The ASBR originates Type 5 LSAs for redistributed external routes.
Type 7 LSAs are translated by the ABR into Type 5 LSAs.

Ccow»

Answer: AD

Explanation:

Redistribution into an NSSA area creates a special type of link-state advertisement (LSA) known
as type 7, which can only exist in an NSSA area. An NSSA autonomous system boundary router
(ASBR) generates this LSA and an NSSA area border router (ABR) translates it into a type 5 LSA,
which gets propagated into the OSPF domain.
http://www.cisco.com/c/en/us/support/docs/ip/open-shortest-path-first-ospf/6208-nssa.html
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QUESTION 46
Given the information shown in the exhibit, what was used to determine mastership?

M\ Exhibit =3

-~
userfswitch show wvirtual-—-chassis
Virtual “hassis ID: 4282 .5S8cl.=22ca
V1 -wval @3e? is Mode: FE ) [
Mstx
Mixed Neighbor Li .
2 k ) Statu Seris N Model prio
{ > O) can e 34300 ex4300—-24t 128
1 vep—2oS/ /1L
R P ey 1) Prsnt PG3713430107 ex4300—24t 128
Backup NZ& 8) vep-295S/1/0

member uptime

manually assigned role
highest serial number
manually assigned priority

Cow»

Answer: A

Explanation:

When a Virtual Chassis configuration boots, the Juniper Networks Junos operating system (Junos
OS) on the switches automatically runs a master election algorithm to determine which member
switch assumes the role of master. The algorithm proceeds from the top condition downward until
the stated condition is satisfied.

QUESTION 47
An EBGP session sources its TCP connection from which IP address?

The IP address of the primary address assigned to the loopback interface.
The IP address assigned as the router ID.

The IP address of the preferred address assigned to the loopback interface.
The IP address of the interface that connects the two BGP speakers.

Ccow»

Answer: D

Explanation:

The BGP session between two BGP peers is said to be an external BGP (eBGP) session if the
BGP peers are in different autonomous systems (AS). A BGP session between two BGP peers is
said to be an internal BGP (iBGP) session if the BGP peers are in the same autonomous systems.
By default, the peer relationship is established using the IP address of the interface closest to the
peer router.
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QUESTION 48
Referring to the exhibit, which statement is true?

M\ Exhibit

R1(RID: 1.1.1.1) Gy @» R2 (RID:1.1.1.2)

%; R4 (RID: 1.1.1.4)

R3 (RID: 1.1.1.3) 6

userfR1> show ospf nei

Address Inte e State ID Pri Dead
172.25.0.4 ge - Full s ot e QT 128 33
1 B o gyl e i ne-0/0/1.C rull LTRSS 128 38
172.25.0.2 ge full 1.1.1.2 254 38

U
0

userfR4> show ospf neighbor

Address Interrace State ID Pri Dead
172.25.0.1 ge-0/0/1.0 Full 1 1.1 25S 37
172.25.0.2 ge-0/0/1.90 Full O B ) 254 35
Y22 25203 gqe-0/0/1.0 ZwWay s D 8 gy 128 34

R3 has the complete OSPF database.

R3 and R4 have an adjacency state of Full.
R4 is elected as the DR.

R1 and R2 are elected as DROTHERS.

Cow»

Answer: AC

Explanation:

C: In LANSs, the election of the designated router takes place when the OSPF network is initially
established. When the first OSPF links are active, the routing device with the highest router
identifier (defined by the router-id configuration value, which is typically the IP address of the routing
device, or the loopback address) is elected the designated router.

QUESTION 49

You notice that there are currently two MAC addresses associated with a single access port in the
bridge table on one of your EX Series switches. What are two explanations for this behavior?
(Choose two.)

The access port connects to an IP phone which connects to a host device.
The native VLAN feature has been associated with the access port.

The mac-move-limit feature has been disabled on the access port.

The access port connects to multiple hosts through a rogue device.

Ccow»

Answer: BD

Explanation:

MAC move limiting detects MAC movement and MAC spoofing on access interfaces. You enable
this feature on VLANS.

QUESTION 50

Which two statements are correct about a Virtual Chassis? (Choose two.)
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A Virtual Chassis is managed using a single virtual console port.

Each device must be managed separately.

All members in a Virtual Chassis must be running the same Junos version.
You must use the same EX Series switch for all members in a Virtual Chassis.

cow>

Answer: AC

Explanation:
A: You can connect a PC or laptop directly to a console port of any member switch to set up and

configure the Virtual Chassis. When you connect to the console port of any member switch, the

console session is redirected to the master switch.
C: In a Virtual Chassis, each member switch must be running the same version of Juniper Networks

Junos operating system (Junos OS).

QUESTION 51
Referrini to the exhibit, which iolici will exiort routes to IBGP peers?

preference 150;

keep all;

mtu-—-dasc exry;

exrort static—1;

remove—private;

tcp—-mas £095G;

grour one
export static—2;
reexr—as 2;
neighkbor 10.1.0.31 ({

expreort static—3;

}

}

group two
tyYyre anternal;
local—address 152 .168.1.11;
export static—4;
local—as 1;
neighkbor 192.168.1.12;
neighbor 152.168.1.13

A. static-4
B. static-1
C. static-3
D. static-2
Answer: A
Explanation:

Type internal in group two indicates refers to an IBGP route.
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QUESTION 52
Which two sequence correctly describe the correct processing order of firewall filters on an EX
Series switch? (Choose two.)

port filter > VLAN filter > router filter > transmit packet
router filter > VLAN filter > port filter > transmit packet
receive packet > port filter > VLAN filter >router filter
receive packet > router filter > VLAN filter > port filter

Cow»

Answer: BC

Explanation:

The order in which filters are applied depends on the direction in which they are applied, as
indicated here:

B: Egress filters (outbound traffic leaving the device or interface)

C: Ingress filters (inbound traffic to the device or interface)
https://www.juniper.net/documentation/en_US/junos16.1/topics/task/troubleshooting/firewall-filter-
gfx-series.html

QUESTION 53
Which state indicates that the BGP session is fully converged?

Connect
Up
Established
Active

Cow»

Answer: C

Explanation:

In order to make decisions in its operations with peers, a BGP peer uses a simple finite state
machine (FSM) that consists of six states: Idle; Connect; Active; OpenSent; OpenConfirm; and
Established. In the Established state, the peers send update messages to exchange information
about each route being advertised to the BGP peer.

QUESTION 54
Which static route next-hop value indicates that the packet will be silently dropped?

resolve
discard
reject
next-table

Cow»

Answer: B

Explanation:

If the static route has a discard next hop it means that if a packet does not match a more specific
route, the packet is rejected and a reject route for this destination is installed in the routing table,
but Internet Control Message Protocol (ICMP) unreachable messages are not sent.
http://www.juniper.net/documentation/en_US/junos13.3/topics/topic-map/policy-generated-
route.html

QUESTION 55
Which two prefixes are martian routes by default? (Choose two.)
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127.0.0.0/16
127.0.0.0/8

192.0.0.0/16
192.0.0.0/24

Cow>

Answer: BD

Explanation:

Martian addresses are host or network addresses about which all routing inf ormation is ignored.
When received by the routing device, these routes are ignored. They commonly are sent by
improperly configured systems on the network and have destination addresses that are obviously
invalid.
https://www.juniper.net/documentation/en_US/junos16.1/topics/concept/martian-addresses-
understanding.html

QUESTION 56

You configured a GRE tunnel that traverses a path using default MTU settings. You want t o ensure
that packets are not dropped or fragmented. In this scenario, what is the maximum packet size that
would traverse the GRE tunnel?

1476
1500
1400
1524

Cow»

Answer: A

Explanation:

The default Ethernet MTU is 1500. There is a 24 byte GRE overhead, so there remain 1476 bytes
for the data packet.

https://kb.juniper.net/InfoCenter/index?page=content&id=KB7848

QUESTION 57
Which two statements are true about a unified ISSU? (Choose two.)

A. ltrequires that Bidirectional Forwarding Detection be disabled.
B. Itis only supported on platforms with redundant control planes.
C. ltis only supported on platforms with redundant power supplies.
D. It requires that graceful Routing Engine switchover be enabled.
Answer: BD

Explanation:

B: Recent development work by many router vendors has focused on an effort to provide hitless
control plane switchovers, which means keeping the control plane states in sync between the active
and standby control planes prior to a switchover. Many consider this capability to be a prerequisite
to delivering ISSU. Hitless control plane switch overs are usually implemented using the same
version of code on both active and standby control plane components. However, ISSU design
additionally requires different software versions running on active and standby control plane
components.

D: Unified ISSU is supported only on dual Routing Engine platforms. In addition, the graceful
Routing Engine switchover (GRES) and nonstop active routing (NSR) must be enabled.
https://www.juniper.net/documentation/en_US/junos15.1/topics/reference/requirements/issu-
system-requirements.html

https://www.juniper.net/kr/kr/local/pdf/whitepapers/2000280-en.pdf
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QUESTION 58
What is the default route preference for BGP?

167
170
150
179

oow>

Answer: B

Explanation:

BGP has the default preference of 170.
https://www.juniper.net/documentation/en_US/junos14.2/topics/reference/general/routing-
protocols-default-route-preference-values.html

QUESTION 59

Your router is configured to peer with your ISP's router using BGP. You can only control your BGP
configuration. Which address families are negotiated between the two BGP peers shown in the
exhibit?

r> show bgp neighbor 192.168.200.2

€8.200.2+179 AS 11685 Local: 192.168.200.1449469 AS 7 2 ‘

ernal State: Established Flags: <ImportEval Sync> v
OpenConfirm Last Event: RecvKeepAlive . k|
None

was families configured: inet-unicast inet-vpn-unicast l2vpn
q'innx 90 Preference: 170 Local AS: 7029 Local System AS: O
pexr of flaps: 0
ID: 10.8.241.31 Local ID: 10.8.241.30 Active Holdt
ive Interval: 30 Group index: 0O Peer index: 0
isabled, down
nterface: xe-0/2/3.0

for this session: inet-unicast
supports Refresh capabilicy (2)

32;266@93 from peer are kept for: 300

end-of-rib markers: inet-unicast
£-rib markers sent: inet-unicast
AS extension (peer—as 11685)
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A. inet-vpn-unicast

B. inet-unicast inet-vpn-unicast 12vpn

C. inet-unicast inet-vpn-unicast 12vpn-signaling
D. inet-unicast

Answer: D

Explanation:

From the exhibit we see:

NLRI for restart configured on peer: inet-unicast inet-vpn-unicast 12vpn
But we also see:

NLRI that restat is negotiaded for: inet-unicast

NLRI of received end-of-rib markers: inet-unicast

NLRI of all end-of-rib markers sent: inet-unicast

QUESTION 60
Which protocol prevents loops and calculates the best path through a switched network that
contains redundant paths?

VRRP
STP
DHCP
IS-1S

Cow»

Answer: B

Explanation:

Spanning Tree Protocol (STP) is a Layer 2protocol that runs on bridges and switches. The main
purpose of STP is to ensure that you do not create loops when you have redundant paths in your
network.

QUESTION 61
In the exhibit, each IP subnet in the campus environment is associated with a unique VLAN ID.
Which action will ensure that Host C will communicate with Host A and Host B?

M\ Exhibit =

User A User C
172.17.21.50/24 . 172.17.21.52/24
Switch-A .
r ‘ )
‘t_‘ J ge-0/0/12 E ge-0/0/14 ,CJI l
C A | )
ge-0/0/16
=

PN I J User B
. 172.17.21.51/24

Configure an IRB interface for each VLAN and associate it with its corresponding VLAN.

Configure all switch ports connecting to the host devices as trunk ports associated with all VLANSs.
Configure a port-based ACL that permits inter-VLAN routing for all configured VLANS.

Configure all switch ports connecting to the host devices as access ports associated with a common VLAN.

Cow»
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Answer: A

Explanation:

Configuring Routing Between VLANs on One Switch
http://www.juniper.net/documentation/en_US/junos15.1/topics/example/RVIs-gfx-series-
examplel.html

QUESTION 62
How many bytes of overhead does an IP-IP tunnel add to a packet?

A. 24 bytes
B. 28 bytes
C. 20 bytes
D. 14 bytes

Answer: C

Explanation:

Generic Routing Encapsulation (GRE) and IP-in-IP (IPIP) are two rather similar tunneling
mechanisms which are often confused. In terms of less overhead, the GRE header is 24 bytes and
an IP header is 20 bytes.
https://www.knowledgebombs.net/blog/2012/08/01/wireshark-ipip-capture-filter.html

QUESTION 63
Referrini to the exhibit, which two statements are true?
[edit protocols= bgp]
user@router¥ show
export policyi;
groupr i1sp-peers {
t external;
= rt polrcyC:y
1k l—-as 70295;
n hbboxr: 192.:168-200.1" {
peexr—as 709;
}
¥
groupr 1bgp-pesrs {
type internal;
local—address 10.0.0. 1
export policyB
l:i.j bc -—td e e U . ;

(| (NS
2
0
0 ¥
™
t
8]
D)
=
’-l
0

neighbor 10.0.0.4;
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A. The policy A routing policy takes precedence over all other policies.

B. No policy is used for neighbor 10.0.0.4.

C. The policy B routing policy is used by neighbor 10.0.0.4.

D. The policy D routing policy is the only policy used by neighbor 10.0.0.2.
Answer: CD

Explanation:

C: A group-level import or export statement, such as export policy B within the group ibgp-peers
statements, overrides a global BGP import or export statement. It is applied to neighbor 10.0.0.4.

QUESTION 64
Switch-1 in the exhibit receives a packet from User A with a destination MAC address of

00:26:88:02:74:47. Which statement is correct in this scenario?

M\ Exhibit
wetch-1< Biridge Table
VILAN MAC Address Interface

1 e (1}

1 joe LR

_______________________________ -
VLAN 10 VLAN 11
User A . User
MAGC: 00:26 33 02:74 4¢ _.' MAC 00:26 88 02:74 49
17223 10.100:24 any ™ 172 23 11.100/24

User B )
MAC 0026 88:02 74 47 7N
172 23.10 200724 M

A. Switch-1 floods the packet out ge-0/0/6, ge-0/0/7, ge-0/0/8, and ge-0/0/9.
B. Switch-1 floods the packet out ge-0/0/7 and ge-0/0/8.

C. Switch-1 floods the packet out ge-0/0/7, ge-0/0/8, and ge-0/0/9.

D. Switch-1 sends the packet out ge-0/0/7 only.

Answer: C

QUESTION 65
An OSPF hello packet has been sent, but bidirectional communication has not been established.

What is the state of the OSPF adjacency?

Down

Init
Exchange
Loading

Ccow»

Answer: A

Explanation:

Down is the first OSPF neighbor state. It means that no information (hellos) has been received from
this neighbor, but hello packets can still be sent to the neighbor in this state.

Not B: The Init state specifies that the router has received a hello packet from its neighbor, but the
receiving router's ID was not included in the hello packet.
http://www.cisco.com/c/en/us/support/docs/ip/open-shortest-path-first-ospf/13685-13.html
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QUESTION 66

You want to provide reachability to your data center by advertising its subnet throughout your
upstream peer AS. However, you do not want this prefix advertised any further. Which BGP
community value would be used to meet this requirement?

no-advertise
no-export
no-export-subconfed
65512 - 65535

Cow»

Answer: B

QUESTION 67

Referring to the exhibit, you want router A to have an EBGP peering with router C. They are both
connected through router B, which does not have BGP running, and has static routes configured.
What must be configured in the EBGP peer groups on routers A and C to make this connection
possible?

AS 100 AS 200
A A B A ¢
\ /
\\\ ,,
A. MED
B. multihop
C. multipath
D. next-hop
Answer: B
QUESTION 68

You are a service provider and have multiple customers in a building. You are installing a new
switch that can host all of your customers. However, you would like to ensure that one customer
cannot see or broadcast to another customer. You would also like to have them use a common
gateway IP address from the building. What should be used to provide this access?

A. VLAN

B. private VLAN

C. filter-based VLAN
D. Layer 2 tunneling

Answer: B

JNO-347 Exam Dumps JNO-347 Exam Questions JN0-347 PDF Dumps JNO0-347 VCE Dumps
Back to the Source of this PDF and Get More Free Braindumps -- www.juniperbraindumps.com



https://www.passleader.com/jn0-347.html
https://www.passleader.com/jn0-347.html
https://www.passleader.com/jn0-347.html
https://www.passleader.com/jn0-347.html
https://www.passleader.com/jn0-347.html
http://www.juniperbraindumps.com/
https://www.passleader.com/jn0-347.html

@PassLeader

Leader of IT Certifications

New VCE and PDF Exam Dumps from PassLeader

QUESTION 69
What kind of filter would be written to protect control traffic destined for the switch?

A. Afilter applied to the default VLAN

B. Afilter applied to the native VLAN

C. Afilter applied to the management interface
D. Afilter applied to the loopback interface

Answer: D

QUESTION 70
What BGP attribute is mostly likely to influence a remote AS that you do not peer with?

This is not possible given the local scope of BGP
AS path

MED

Local preference

Cow»

Answer: B

QUESTION 71

You were provided a network diagram that told you to number your network from the
191.255.0.0/16 space. OSPF is enabled and adjacencies are up, but no routers are learning any
routes. What can explain this?

The default OSPF export policies advertise nothing, so you need to apply export policy.

The default OSPF import policy rejects all OSPF routes, so you need to apply import policy.

You need to modify the martian table with a 191.255.0.0/16 accept statement.

You need to enable OSPF on the 100 interface to provide a route to the RID of each router in the network.

©Cow»

Answer: C

QUESTION 72
What types of authentication are supported in Junos for OSPF?

Simple password

MD5 checksum

Hitless key chain of MD5 keys/checksums
All of the above

Cow»

Answer: D

QUESTION 73
What are three types of port designation specific to Private VLANs? (Choose three.)

Promiscuous ports
Transparent ports
PVLAN trunk ports
Designated ports
Isolated ports

moowp
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Answer: ACE

QUESTION 74

Referring to the exhibit, which three actions would summarize these routes to a BGP peer?
(Choose three.)

uzerfrouter -»-show route -advertizing-protocol ‘bhogp-172.16.36. 1+

inet.0: -31l-deztination=, -31-routez- (31l -active, -0 -holddown, -0 -hidden)-
Prefix -HNexthop MED-Loclpref -ASpath+

*-10.200.17.0/24-5elf-I+¢

*-10,200.19,0/24 -5elf -1+

Create a policy that accepts the more specific contributing routes.

Create a route to 10.200.16.0/21 with a next hop of 172.16.36.1 under the [edit routing-options static] hierarchy.
Create a policy that rejects the more specific contributing routes.

Create a policy to accept aggregate routes.

Create a 10.200.16.0/22 route under the [edit routing-options aggregate] hierarchy.

moow»

Answer: CDE

QUESTION 75
Which connection method do OSPF routers use to communicate with each other?

IP protocol number 89
TCP port 179

UDP port 179

IP protocol number 6

Cow»

Answer: C

QUESTION 76

You are configuring a new BGP service to your service provider. You want to ensure that BGP is
fully established and has all the routes in the route table before allowing traffic to transit the router.
Which feature achieves this requirement?

BGP route reflector
IS-IS mesh group
BGP local preference
IS-IS overload bit

Ccow»

Answer: D

QUESTION 77

You are adding a new EX4300 member switch to your existing EX4300 Virtual Chassis. However,
the new member is not running the same Junos version as the other members. By default, what is
the expected behavior?

A. The new switch is not recognized by the Virtual Chassis.

B. The Virtual Chassis will transition into a split brain situation between the existing master Routing Engine and the
switch running the different version.

C. The new switch will be assigned a member ID and then placed in an inactive state.

D. The new switch will automatically pull the correct version from the master Routing Engine and perform the
necessary upgrade.
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Answer: D

QUESTION 78
Which three BGP attributes are well-known and mandatory? (Choose three.)

AS Path

Next Hop

MED

Local Preference
Origin

moowp

Answer: ABE

QUESTION 79
You created a policy to reject all incoming routes from peer 2.2.2.2. You notice that despite applying
the policy, you are still receiving routes from this peer.
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userfhost> show bgp neighbot 2.2.2.2
Peer: 2.2.2.2+50216 AS 15169 Local: 7.7.7.7+4179% AS 15189

Group: bxs Routing-Instance: master
Forwarding routing-instance: master

Type: Internal State: Established Flags: <Sync>
Last State: OpenConfirm Last Event: RecvKeepAlive

Last Error: None
Export: [ noroutes-filter ]
tions: <Preference LocallAddress Advertiselnactive LogUpDown Multipath Refresh>
Local Address: 7.7.7.7 Holdtime: 90 Preferencce: 170
Number of flaps: 7
Last flap event: RecvNotify
Error: ‘Cease’ Sent: 0 Recv: 7
Peer ID: 2.2.2.2 Local ID: 10.245.146.193 Active Holdtime 90
Keepalive Interval: 30 Group index: 1 Peer index: 1
BFD: disabled, down
NLRI for restart configured on peer: inet-unicast
NLRI advertised by peer: inet-unicast
NLRI for this session: inet-unicast
Peer supports Refresh capability (2)
Stale routes from peer are kept for: 300
Peer does not support Restarter functionality
Restart flag received from the peer: Notification
NLRI that restart is negotiated for: inet-unicast
NLRI cf received end-of-rib markers: inet-unicast
NLRI cf all end-of-rib markers sent: inet-unicast
Peer does not support LLGR Restarter functionality
Peer supports 4 byte AS extension (peer-as 151&%)
Peer does not support Addpath
Table inet.0 Bit: 10000
RIB State: BGP restart is complete
Send state: in sync

Active prefixes: 0

Received prefixes: 40002

Accepted prefixes: 490002

Suppressed due to damping: 0

Advertised prefixes: 0
Last traffic (seconds): Received 8 Sent 25 Checked 57
Input messages: Total 1206 Updates 403 Refreshes 0 Octets 232015
Output messages: Total £12 Updates 0 Refreshes 0 Octets 105
Outout Queue(0]: 0 (inet.0, inet-unicast)

userfhost> show configuration pelicy-options policy-statement notoures-filter
term default {

then reject;
}

userfhost> show route receive-protocol bgp 2.2.2.2

inet.0: 43201 destinations, 53201 routes (43201 active, 0 holddown, 4 hidden)

Prefix Nexthep MED Lclpref AS path
167.10.0.0/25 112.134.1.10 100 I
167.10.0.128/25 112.134.2.10 100 I
167.10.1.0/25 112.134.1.10 100 I
167.10.1.128/25 112.134.2.10 100 I
167.10.2.0/25 112.134.1.10 100 I
167.10.2.128/25 112.134.2.10 100 I
167.10.3.0/25 112.134.1.10 100 I
167.10.3.128/25 112.134.2.10 100 I
167.10.4.0/25 112.134.1.10 100 I
167.10.4.128/25 112.134.2.10 100 I

Referring to the exhibit, why are you still receiving the routes?
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The policy should have a form statement.
You can only block active prefixes.

The policy should be an import policy.
You cannot block incoming IBGP routes.

Answer: C

QUESTION 80
Which static route next-hop value indicated that the packet will be silently dropped?

Cow»

resolve
discard
reject
next-table

Answer: B

QUESTION 81
An EX Series switch receives a frame with an unknown destination MAC address. What is the
expected behavior?

A. The frame is sent out all ports assigned to all configured VLANs except the ingress port on which the frame was
received.

B. The frame is sent out all access ports associated with the ingress VLAN regardless of whether a matching MAC
address was found in the bridge table.

C. The frame is sent out all ports assigned to the associated VLAN except the ingress port on which the frame was
received.

D. The frame is sent out all trunk ports associated with the ingress VLAN regardless of whether a matching MAC
address was found in the bridge table.

Answer: C

QUESTION 82

You are currently defining a new OSPF area. The area must advertise external routes but should
not receive external routes from another area. In this scenario, which type of area should you define?

Cow»

stub
backbone
not-so-stubby
totally stubby

Answer: A

QUESTION 83
What is considered a requirement for passing traffic through GRE tunnels?

Cow»

Tunnel endpoints must have static routes pointing to the remote endpoints.

You must configure the tunnel on the physical interface connecting to the remote endpoint.
You must be able to reach the remote endpoint through the tunnel.

Tunnel endpoints must have a route that directs traffic into the tunnel.
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Answer: C

QUESTION 84
What are three components that populate the Ethernet switching table? (Choose three.)

the interface on which the traffic was received
the MAC address of the destination node

the MAC address of the source node

the link state

the time the address was learned

moowp

Answer: ACE

QUESTION 85
Which three statements are true regarding not-so-stubby areas (NSSAs)? (Choose three.)

You cannot configure an area as both an NSSA and a stub area.

An NSSA exports an external route to the backbone area as a Type 5 LSA.
An NSSA exports an external route as a Type 3 LSA.

An NSSA does not require an ABR.

An NSSA imports an external route as a Type 7 LSA.

moow>

Answer: ABE

QUESTION 86

You manage a Layer 2 network that spans two buildings. You are asked to ensure that all traffic
that traverses this connection between the two buildings is secured. Which port security feature
should be used to secure this Layer 2 traffic?

IP source guard
MACsec

DHCP snooping
dynamic ARP inspection

Cow»

Answer: B

QUESTION 87
Referring to the exhibit, which effect does the configuration on R2 have on OSPF routing in the
network?
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/’,.—“_
/ \
Area 1& mocmen | 19206010024 [eaie provacels ospt)
¢ i / user@R2E show
o arxea 0.0.0.0 {
= ‘ R2~._ interface ge-0/0/1.0;
' \ }
192.168.0.0/24 arxea 0.0.0.1 {
e 0( ) area-range 152.168.10.0/24 restrict;
L /,/ interface gqe-0/0/2.0;
1 }
o
l | : [edit protocols ospf]
Area 2 R4 192-168.20-0/24 usezGRZu

A. R2 will block traffic destined to the 192.168.10.0/24 network.
B. A summary route for the 192.168.10.0/24 network will be advertised to Area 0.
C. The 192.168.10.0/24 route will not be advertised to Area 1.
D. Area 2 will use a default route to reach Area 0 and Area 1.

Answer: C

QUESTION 88
Which protocol prevents loops and calculates the best path through a switched network that

contains redundant paths?

VRRP
STP
DHCP
IS-1S

Ccow»

Answer: B

QUESTION 89
You are establishing a BGP session between R1 and R2. R2 shows 172.24.1.1 as its peer address

for R1 instead of 192.168.100.1.
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user@R1# show rouling-options
router-id 192.168.100.1;
autonomous-system 65503 ;

ISP A ISP B
AS 65501 user@R1f show protocols bgp AS 65502
10\ group internal { /10
\QQ type intexrnal; \I/
neighbor 192.168.100.2; 7
-~ »
Ve ) , Qs
2\ group external-a { 7
:; \ type external; / Q
oA peer-AS 65501; ,0{”
Q)\ neighbor 172.30.1.2; N
o\ ) y
D\% > A
e~ AS 65503 7 ,%

: /
\Gl ) ge-0/0/1.0 ge-0/0/1.om>
.f U
. (1) 172.24.1.0/30 (.2) \R2

100/RID: 192.168.100.1 100/RID: 192.168.100.2

R1

Referring to the exhibit, what must be changed in the configuration?

A. A peer-as statement must be added to R1 in the internal group.

B. An export policy statement must be added to R1 in the internal group to allow the 100 address to peer.
C. Alocal interface statement with the 100 address must be added to R1 in the internal group.

D. Alocal address statement with the 00 address must be added to R1 in the internal group.

Answer: D

QUESTION 90
What would cause the status of interface ge-0/0/8 as shown in the exhibit?
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{master:0} [=dit]
user@host# run show spanning-tree interface

Spanning tree interface parameters for instance 0

Intexface Port ID Designated Designated Port State Role
bridge ID
ge=0/0/0 1490 32768.28a24b87£6cS 2000 EWD DESG
ge-0/0/1 1491 32768.28a24b87£6cS 2000 EWD DESG
ge-0/0/2 1492 32768.28a24b387f6cS 2000 EWD DESG
ge-0/0/3 1493 32768.28a24b87£écS BLK DIS
ge-0/0/4 1494 32768.28a24b87f6cS BLK DIS
ge-0/0/5 495 32768.28a24b87fécs BLK DIS
ge-0/0/¢6 4% 32768.28a24b87£6cS BLK DIS
ge-0/0/7 488 32768.28a24b37£f6cS BLK DIS
ge-0/0/8 4¢99 32768.28a24b37f6cS 20000 BLK BKUP
ge-0/0/9 :500 32768.28a24b37£6cS 200000000 BLK DIS
ge-0/0/10 :501 32768.28a24b87£f6cS 200000000 BLK DIS

{master:0} [edit]
user@host4 run show interfaces ge-0/0/* terse

Interface Admin Link Proto Local Remote
ge=-0/0/0 up up

ge-0/0/0.0 up up eth-switch
ge-0/0/1 up up

ge-0/0/1.0 up up eth-switch
ge-0/0/2 up up

ge-0/0/2.0 up up eth-switch
ge-0/0/3 up down

ge-0/0/3.0 up down eth-switch
ge-0/0/4 up down

ge-0/0/4.0 up down ecth-switch
ge-0/0/5 up down

ge-0/6/5.0 up down eth-switch
ge-0/0/6 up down

ge-0/0/6.0 up down eth-switch
ge-0/0/7 up down

ge-0/0/7.0 up down eth-switch
ge-0/0/8 up up

ge-0/0/8.0 up up eth-switch
ge-0/0/9 up down

ge-0/0/9.0 up down eth-switch
ge~0/0/10 up down

ge-0/0/10.0 up down eth-switch
ge-0/0/11 up down

{master:0} [edit]
user@host#

A. Interface ge-0/0/8 is physically down and is not forwarding traffic.

B. Interface ge-0/0/8 has a firewall filter in place that is blocking traffic.

C. Interface ge-0/0/8 is administratively disabled and is not forwarding traffic.
D. Interface ge-0/0/8 is connected to the same LAN as one of the other ports.
Answer: D

QUESTION 91

Which two values are used to generate a bridge ID when using STP? (Choose two.)

A. system MAC address
B. bridge priority

C. portidentifier

D. loopback IP address
Answer: AB
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QUESTION 92

Referring to the exhibit, when using the default routing behavior, what happens to Packet A and

Packet B on R1?

Network A
172.29.0.0/24 172.29.0.0/22
—‘\\ \ 1 R1 /
| 0-0/0/1
Network B N 2 %}_\f: Ak {Jl} i ISP X
172.29.1.0/24 ) o= 172.30.25 0/30 ‘

Network C

172.29.2.0/24 Packel A | Destinedto 172.29.1.5

R IELPacketB | Destined 10 172.29.3.5

b |

Packet A is rejected and Packet B is forwarded to its destination.
Packet A is forwarded to its destination and Packet B is rejected.
Packet A and Packet B are forwarded to their respective destinations.
Packet A and Packet B are discarded.

Cow»

Answer: B

QUESTION 93
Which statement is true about GRE tunnels?

A. GRE tunnels can be used for only IPpackets.

B. GRE tunnels ensure that a packet does not live forever.

C. Packets are encapsulated unchanged before entering the tunnel.
D. GRE tunnels support point-to-multipoint.

Answer: C

QUESTION 94
What are three types of bridge protocol data units? (Choose three.)

media endpoint discovery

topology change acknowledgement
topology change notification

type length value

configuration

moowp

Answer: BCE

QUESTION 95

A routing table contains multiple BGP routes to the same destination prefix. The route preference
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is the same for each route.

Route MED Origin Code Local Preference
A 10 | 50
B 0 ? 150
C 20 E 100
D 10 | 150

Referring to the exhibit, which route would be selected?

Route B
Route D
Route A
Route C

Cow»

Answer: B

QUESTION 96
Which area is reserved for the OSPF backbone?

Area 0.0.0.0
Area 1.1.1.1
Area 2.2.2.2
Area 3.3.3.3

Cow»

Answer: A

QUESTION 97

You are performing network tests and notice that the Layer 3 interface in the Finance VLAN on an
EX Series switch is not responding to pings. You review the device status from the console. What
is causing the problem, as shown in the exhibit?

JNO-347 Exam Dumps JNO-347 Exam Questions JN0-347 PDF Dumps JNO0-347 VCE Dumps
Back to the Source of this PDF and Get More Free Braindumps -- www.juniperbraindumps.com



https://www.passleader.com/jn0-347.html
https://www.passleader.com/jn0-347.html
https://www.passleader.com/jn0-347.html
https://www.passleader.com/jn0-347.html
https://www.passleader.com/jn0-347.html
http://www.juniperbraindumps.com/
https://www.passleader.com/jn0-347.html

@PassLeader

Leader of IT Certifications

New VCE and PDF Exam Dumps from PassLeader

{master:0}

user@host> show configuration interfaces irb

unit 20 {
family inet {
address 192.168.10.1/24;
}
}
unit 30 {
family inet {
address 192.168.20.1/24;

}

{master:0}
user@host> show interfaces terss irb

Interface Zdmin Link Proto Local
irb up up

irb.20 up up inet 192.1
irb.30 up down inet 192.1
{master:0}

user@host> show vlans

Routing instance VLAN nane Tag
default-switch default 1
default-switch finance 30
default-switch office 20

{master:0}
user@host> show configuration vlans
finance {
vlan-id 30;
13-interface irb.30;
}
office |
vlan-id 20;
13-interfacw irb.20;
}

{master:0}
user@host>

user@host> show route 192.

inet.0: 3 destinations, 3 routes (3 active, 0
+ = Active Route, - = Last Active, * = Both
192.168.20.1/32 * [Local/0] 00:09:18

Reject

holddown,

Remote

Interfaces

ge-0/0/7.0
ge-0/0/8.0
ge-0/0/9.0
ge-0/0/10.0

ge-0/0/0.0%
ge-0/0/1.0%
ge-0/0/2.0%
ge-0/0/3.0

0 hidden)

JINV=OI“ /7 CAAlll UuIIIPD JINV=O< 7/ LEAAlll \(ucauuna

JINV=O“F/ T I.lullll.lb

JINV-I4/ veE wvunllps
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A. There are no active physical ports in the Finance VLAN.

B. There is no route in the routing table for the Finance VLAN Layer 3 interface.
C. The Layer 3 interface in the Finance VLAN is administratively disabled.

D. There are no interfaces configured in the Finance VLAN.

Answer: B

QUESTION 98

The configuration shown in the exhibit was committed on an EX Series switch. You are notified that
the phone using the voice VLAN does not work. You determine that voice traffic is not passing
through the local switch.

{master:0} [edit] {master:0} {edst]
user@switchd show switch-oprione userfswitchi show interfacas ge-0/0/9
veip | unit 0 {

incerface ge-0/0/2.0 { farily ethernet-switching

vian voice; inserface-mcie access
vian ¢

} nexerxs faca
(mastex:0} [edic]
user@switchi show wvlans )
default {

vian-id 1; {mascex:0} [ed=t]
3 gwitchd 2how intexiaces ge-0/0/8
daca {

vian-id 10: faraly ethernet-switching i
} interface-mcce Trunk:
voice { e R )

vlan-id 20: members data;

}

switch ]
qe-010/9.0 [P ge-00/3.0 Layer 2 |
Tagged . Network ~
Voice [«— S
R T - Untagged
| Data e =i -»

What should be done to solve the problem?

You should add the voice VLAN as a member on the ge-0/0/8.0 interface.
You should change the port mode on ge-0/0/9.0 totrunk.

You should add the voice VLAN as a member on the ge-0/0/9.0 interface.
You should change the voice VLAN ID to match the data VLAN ID.

00w

Answer: A

QUESTION 99
You are unable to establish a BGP session between R2 and ISP-B.
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\

¢ \ user@R2# show routing-options
ISP A

‘ router-id 192.168.100.2; ISP B O\
~ As 6»5501 autonomous-system 65503 ; AS 65502 )
a0 ; Ao
Y user@R2# show protocols bgp \Jr

Bl group external-b r
\ >/ group external-a { 3)/

i\ peer-as 65503; /
2 neighbor 172.31.1.2; 5
N
oON ¥ /70
" N
o\ 7
U\ 7 > L
0\\\5 AS 65503 7,0

& /
/YL ge-0/0/1.0  ge-0/0/1.0/10
100/RID: 192.168.100.1 | \Qr’ﬁg A8 /2 " 100/RID: 192.168.100.2
\_p1 (1) 1722410/30(2) g, |

48 S P

Referring to the exhibit, what must be changed in the configuration?

A local address statement with the 100 address must be added to R2 undergroup external-a.
An import policy statement must be added to R2 undergroup external-a to allow ISP-B to peer.
The type external statement must be added to R2 undergroup external-b.

The peer-as statement needs the AS number for ISP-B.

Cow»

Answer: D

QUESTION 100
Referring to the outputs shown in the exhibit, which statement is correct?

userfswitch> show spanning-tres bridges
STP bridge parameters
Context ID : 0
Enabled protocol ¢ RSTP
Root ID : 4096.00:19:22:55:3¢6:00
Root cost 40000
Root port : ge-0/0/13.0
Hello time 2 seconds
Maximum age 20 seconds
Forward delay 15 seconds
Message age 2
Number of topolegy changes 2
Time since last topology change 72 seconds
Local paramecers
Bridge ID 32768.00:19:22:55:1d:40
Extended system ID 0
Internal instance ID 0

The switch is the only switch in the RSTP topology.
The switch's bridge priority is 4k.

The switch's bridge priority is 16k.

The switch is not the root bridge.

Cow>»
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Answer: D

QUESTION 101

A customer discovered that a significant outage was caused by an unauthorized Ethernet switching
device attached to the network. In this scenario, which two actions would solve this problem?
(Choose two.)

Enable 802.1x.

Enable persistent MAC learning.
Enable dynamic ARP inspection.
Enable storm control.

oCow»

Answer: AB

QUESTION 102
The IS-1S adjacency between routers R1 and R2 will not establish.

[edizt]
userfhost# show interfaces
ge-0/0/1 {

description “Link to R2";
mtu 1476;
unic 0 {
family inet ¢
address 192.166.6.1/30;
}
family 1s0;

}
100 {
unic 0 {
family inet;
family iso {
address 49.0002.0000.0000.0001.00;
}
}
}
[edic)

userfhosc# show protocols isis
incerface ge-0/0/1.0;

interface lo0.0;

[edit]
usexrfhosc#

Referring to exhibit, what is the problem?

The ISO address is not configured on interface ge-0/0/1.
The level is not configured under protocols isis.

The IP address is not configured on interface 100.

The link MTU is too small on interface ge-0/0/1.

Ccow»

Answer: A
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QUESTION 103

You are asked to change the default behavior of your trunk port (ge-0/0/1) to now pass untagged
traffic.

userfhost# show interface ge-0/0/1
unit 0 {

family ethernet-switching {
interface-mode trunk;

vian (

members [v1i4 v15];

}

}

}

[edit wvlans]
userfhost# show
vlans {

vl

vlian-id 14;
interface ge-0/0/1;
}

vis {

vlian-id 15;
interface ge~-0/0/1;
}

}

Which configuration would accomplish this task?

A. setinterfaces ge-0/0/1 native-vian-id 1
set interfaces ge-0/0/1 unit O family ethernet-switching interface mode trunk vlan members vian 1
B. set interfaces ge-0/0/1 native-vian-id 1
set interfaces ge-0/0/1 unit O family ethernet-switching interface mode trunk vlan members native
C. setinterfaces ge-0/0/1 native-vlan-id 1
set interfaces ge-0/0/1 unit O family ethernet-switching interface mode trunk vlan members 1
D. setinterfaces ge-0/0/1 native-vian-id 1
set interfaces ge-0/0/1 unit Ofamily ethernet-switching interface mode trunk vian members native_v1
Answer: C

QUESTION 104
Which two statements are true about nonstop bridging (NSB)? (Choose two.)

Ccow»

NSB does not require all participating Routing Engines to run the same version of the Junos OS.
NSB can be enabled under the protocols layer2-control hierarchy.

NSB requires you to configure graceful Routing Engine switchover (GRES).

NSB does not require you to configure graceful Routing Engine switchover (GRES).

Answer: BC

QUESTION 105
Which Junos feature allows you to combine multiple interfaces into a single bundle?

A.

VRRP
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B. Virtual Chassis
C. LAG
D. NSB

Answer: C

QUESTION 106
What is the default BGP group type on a Junos device?

internal
external
multihop
null

cow>

Answer: B

QUESTION 107

You received an alert from your monitoring system that the master Routing Engine (RE) on an
EX4300 switch in a virtual chassis has hardware issues and might need to be replaced. Because
the switch already had graceful Routing Engine switchover (GRES) enabled and configured, you
must perform a manual switchover to the backup RE to avoid disruption. Which command would
be used to perform the manual RE switchover?

Log in to the backup RE and issue the request chassis-control operation command.

Log in to the backup RE and issue the request chassis routing-engine master switch operation command.
Log in to the backup RE and issue the request chassis routing-engine master acquire operation command.
Log in to the backup RE and issue the request iccp-service operation command.

Cow»

Answer: B

QUESTION 108
Which two statements are true about Virtual Chassis? (Choose two.)

It is possible to automatically update the Junos OS on newly added members to participate in the Virtual Chassis
A software version mismatch on a newly added member must be placed in linecard mode.

Virtual Chassis members use VCCP to create a loop-free topology.

The member ID is not preserved through reboots.

Cow»

Answer: AC

QUESTION 109
Which two statements are true about the IRB interface? (Choose two.)

An IRB interface is a Layer 3 VLAN interface.

An IRB interface is a Layer 2 VLAN interface.

An IRB interface is used to route traffic between VLANS.
An IRB interface cannot be associated with any VLAN.

Ccow»

Answer: AC

QUESTION 110
You manage the Layer 2 network shown in the exhibit. You experience a failure on the ge-0/0/0
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link between Switch-1 and Switch-2. Which statement is correct about the expected behavior?

Switch-1
Forwarding = @
Discarding = (D)
Root Port = (R)

Alternate Port = A

Switch-2 Switch-3

Switch-3's ge-0/0/2 port role and state will transition to designated and forwarding.
Switch-3's ge-0/0/2 port role and state will remain asalternate and discarding.
Switch-3 will become the root bridge for the RSTP topology.

Switch-3 will remove the ge-0/0/2 interface from the RSTP topology.

Cow»

Answer: A

QUESTION 111
Referring to the exhibit, which statement explains why the route to 192.168.178.0/24 advertised

from 192.168.35.90 is hidden?
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userfhost> show routs 192.168
inet.0 77176 destinations, 77
+ = Active Route, - = Last Active, * = Both
192.168.178.0/24 (3 entries, 1 announced)
*BGP Preference: 170/-81

Source: 192.168.0.79

Nexcthop: 192.163.27.25 via s0-0/3/0.0,

State: <Active Int Ext>

Local AS: 333 Peer AS: 333

Age: 2:36:23 Metric: 82 Metric2:

Task: BGP_333.192.168.0.79+179

.178.0/24 detail
7

As path: 1234 65444 I
Aggregator: 65444 192.168.1€6.1
Cluster list: 0.0.31.200 0.0.159.125
Communitites: 3333:888 333:689
BGP next hop: 192.168.4.10
ocalpref: 80

Router ID: 192.166.0.79

BGP Preference: 170/-61
Source: 192,168.0.80
Nexchop: 192.168.27.25 via s0o-0/3/0.0,
State: <NotBest Int Ext>
Local AS: 333 Peex AS: 333
hge: 2:36:23 Mectric: 82 Mecric2:
Task: BGP_333.192.168.0.680+179
As path: 1234 65444 I <Originator>
Rgoregator: 65444 192.168.166.1
Cluster list: 0.0.31.200 0.0.159.125
Communitites: 3333:888 333:889
BGP next hop: 192.168.4.10
Localpref: 80
Router ID: 192.168.0.80

BGP Preference: /-123
Source: 192.168.0.80
Nexchop: 192.168.35.90 via t3-4/3/0.0,
Stacte: <HidenInt Ext>

Announcement bits (3): 0-KRT 2-BGP.0.0.

€& routes (77137 active, 0 holddown, 53 hidden)

selected

el

0.04179 3-BGP_Sync_Any

selected

6l

selected

A. The import routing policy rejected the route.

B. The AS path contains invalid confederation attributes.
C. The next-hop address is a multicast address.

D. The AS path contains a zero.

Answer: A

QUESTION 112

What will be two results of the OSPF configuration shown in the exhibit? (Choose two.)
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[edit protocols ospf]
userfhosté show

A A ARTp

area 0.0.0.0 {

nssa {
default-1isa {
default-metric 10;
type-7;
}
no-summaries;

A default route will be advertised into Area 1 as a Type 7 LSA.
Area 0 will not generate summary LSAs for networks in Area 1.
There will be no Type 3 LSAs in Area 1.

Only Type 7 LSAs will be present in Area 1.

Cow»

Answer: AB

QUESTION 113
Referring to the exhibit, which two statements are true regarding 1S-1S adjacencies? (Choose two.)

userfRi# show interface 1lo0 unit 0
family iso {
address 49.0001.0192.0168.0001.00;

}

usexrfR2# show interface lod unitc 0
family 1isc {
address 49.0002,015%2.01¢68.0002.00;

}

userfR3# show interface lod unit 0
family iso {
address 49.0003.0192.016€.0003.00;

}

user@fR4# show interface lod unic 0
family :iso {
address 49.0003,0162.0168.0004.00;

}

Level 1 adjacencies can be formed between Router 3 and Router 4.

Level 2 adjacencies can be formed between all routers.

Level 2 adjacencies can only be established between Router 1 and Router 2.
No IS-IS adjacencies can be formed.

Ccow»

Answer: AB
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QUESTION 114
Which device is used to separate collision domains?

A. switch
B. router
C. hub

D. firewall

Answer: A

QUESTION 115
Referring to the exhibit, which two statements are correct? (Choose two.)

{master:0} [edit]
userfhosté show firewall family ethernet-switching
filter block {
term 1 {
£rom |
ip-protocol icmp;

then accept;

term 2 {
from {
ip-source-address {
172.25.11.1/32;

}
}
then discard;

tem 3 {
from (
ip-destination-address |
172.25.11.0/24;

}

then discard;

All traffic destined to the 172.25.11.0/24 subnet will be discarded.
SSH traffic receivedfrom host IP 172.25.11.2 will be accepted.
Any traffic not matched by one of the terms will be discarded.
ICMP echo requests destined to 172.25.11.10 will be accepted.

Ccow»

Answer: CD

QUESTION 116
Which two statements are true about link aggregation groups (LAGs)? (Choose two.)

A. Member links must use contiguous ports on the same member switch.
B. Duplex and speed settings are not required to match on both participating devices.
C. If one-member link fails, the LAG can continue to carry traffic over the remaining links.
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D. LAGs increase available bandwidth based on the number of member links.

Answer: CD

QUESTION 117
Referring to the exhibit, a packet tagged with vlan-id 34 arrives on interface xe-0/2/3.0 with a source
MAC that does not match an entry in the DHCP snooping database.

{master:0) [edit]
user@hosté show vlians
data |
vian-id 34;
forwarding-options {
dhcp-security {
arp-inspection;
group data {
overrides |
trusted;
}
incterface xe-0/2/3.0;
}
}
}
}

In this scenario, which statement is correct?

The source MAC is added to the DHCP snooping database.
An error message is logged and the packet is forwarded.

The destination MAC added to the DHCP snooping database.
The packet is forwarded andno error message is logged.

©Cow»

Answer: A

QUESTION 118

You have an existing Virtual Chassis consisting of five member devices. Member 3 fails and must
be replaced. You remove the EX Series switch with a Member ID of 3 and install a replacement
switch in its place using identical cabling as shown in the exhibit. The replacement's member ID is
6, so the configuration for member ID 3 is not applied to it.

(menber:0}

user@host> show virtual-chassis status brief

Preprovisioned Virtual Chasslia
Virtual Chassia ID: 4450.) 6.0%0
Victual Chassis Mode: Mixe

T ¥ Rou : Liss

¥am 41 Szazus  Serial No Model Ntz Role Mixed  Rouve ‘o i
bex prio Mode Kode - Incexface
= _zs 0
(EZC 0) Er=nc  B2023201555  ex2200-23z 128 Mazsars ¥ v = cp-255/1/
b4 ep-255/1/1
1 (F2C 1) Frant BP023201555 ex4200-43c 0 Linecaxd ¥ vc = < ,=3{1{'
< vep-255/1/1
ven2288/1/0
2 (F2C 2 Prenz  BP023201555 ex4200-4%s 0 Linecard b4 ve ~ IR e
3 wep-155/1/1
pa 2 s e Anan . Bedlie A P v we 2 vep~255/1/0
3 (FeC 3 Frans BPO23201555  ex4200-42: 0 Linecard ¢ Ve 4 vep-258/1/1
evi-a 5 ° 19an- 4 - . o 2 wep-255/1/0
4 (FPC %) Frano B2023201855  ex$200-43= 123 Backup ¥ ve . vcg-:ssfx;x
< Big -288 ) )
5 (E2C S Franc  BPO23201355  ex2200-43: 0 Linecard ¥ ve > i Ao T

wrep-255/1/1

Referring to the exhibit, what should have been done before installing the replacement switch?
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Reactivate the Virtual Chassis.

Recycle the member ID of the switch being replaced.
Renumber the member IDs.

Clear the Virtual Chassis protocol.

cow>

Answer: B

QUESTION 119
You are asked to ensure that a designated interface on an EX Series switch only allows a specific
server to pass traffic. Which two features are required to satisfy this solution? (Choose two.)

IP source guard

Proxy ARP

MAC limiting

Persistent MAC learning

Cow»

Answer: CD

QUESTION 120
Which statement describes optional transitive BGP attributes?

They must be supported in all BGP implementations, but do not have to be included in every BGP update.
If they are not recognized, they are ignored and not passed to other peers.

They must be supported by all BGP implementations and must be included in every BGP update.
Although not required, they should be passed along, unchanged to other BGP peers when included.

Cow»
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